
Solving Systems with Matrices     NAME: 

For the following questions, consider the augmented matrix below. 
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a.) What is the order of this augmented matrix?  

 

 

b.) Using  x, y, and  z  as the variables, write down the three equations that this matrix represents.  

 

 

 

 

 

c.) Perform the row operations  2 2

1

3
R r   and  3 1 31R r r   .  

 

 

 

 

 

 

d.) Use the calculator to solve this (given) augmented matrix and write the solution as an ordered 
triplet. Round values to two decimal places.  

 

 


